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SN 23 BBY
22
]

Hu: BBas
R LR (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHIE&EH &5 Yel =M 5,000
Loz Otite 2 EH 70,000 0 70,000
307 glz2+ol & 70,000 0 70,000
04 QIZFHALAIH B = 70,000 0 70,000
ogez e Z3FAH 70,000
EAE =X 30,000 0 30,000
307 21201 A 30,000 0 30,000
04 QIZFHALAIR B = 30,000 0 30,000
OEA2H=H 30,000
3E M 0|0FII=H 15,000 0 15,000
307 2201 A 15,000 0 15,000
04 DIZFSHAIAIRI 2 = 15,000 0 15,000
O=2 # 0|0t =H 15,000
grotetx == =xql 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
04 QIZFHALAIH E = 10,000 0 10,000
O Y= +=2=H 10,000
S30ts HZEZ2 =A 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 QIZFHALAIH B = 10,000 0 10,000
Of=02 2 =X 10,000
AS0LS BEXIEOHH0l S 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 QIZFHALAIH B = 5,000 0 5,000
OAI20t2 BHXIEIHE 0l SH 5,000
48 2els =H 10,000 0 10,000
307 gl2tol & 10,000 0 10,000
04 DIZHSHAIAIRI 2 = 10,000 0 10,000
oOnd Bl sH 10,000
e == 2 HAEE 5,000 0 5,000
307 glz2tol & 5,000 0 5,000
04 QIZFHALAIH 2 = 5,000 0 5,000
Onyg =3 #HY HAEE 5,000
20H0F XtE238 =AM 15,000 0 15,000
307 21201 A 15,000 0 15,000
04 QIZFHALAIH B = 15,000 0 15,000
OAJ10F XtE2 3 =H 15,000




fAH: S2st22 1
Hu: pEAE
Sl SHIBAAS (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
&lHtg Z2&X0LS ofidketdl =X 5,000 0 5,000
307 gl2tol & 5,000 0 5,000
04 DI2ZHHALALSE E X 5,000 0 5,000
O4l8tg Z&XI0LS ofibtetdl =X 5,000
UAZ HALKIR 510,000 0 510,000
306 ¢ 2 500,000 0 500,000
01 &3 500,000 0 500,000
o223l 420,000
oHdole & M3 30,000
O3stA Y Xt 50,000
401 AIEHI L 201 10,000 0 10,000
01 A& HI 10,000 0 10,000
O8I IYAN T BY
10,000, 000& 14! 10,000
NI k= 5,234,000 570,000 4,664,000
= 2,904,000
e 2,330,000
SN ALY 300,000 300,000 0
401 A& HIZ 201 Y| 300,000 300,000 0
01 A& HI 300,000 300,000 0
OXteter2t 2 X Z&8HE 8 224 300,000
S A 22 TAG LAY (&3 1,798,000 0 1,798,000
< 1,266,000
[ia 532,000
401 AIEHI L 20 1,798,000 0 1,798,000
< 1,266,000
i 532,000
01 A& HI 1,796,000 0 1,796,000
O YA 2 THAZ LA (&2 1,796,000
< 1,266,000
s 530,000
03 AlZ 2 THHI 2,000 0 2,000
OANESHEI(HE) 2,000
20218 Ot M =X MENESHZ2 LAY (HE) 900,000 0 900,000
< 585,000
e 315,000
401 Al HIZ 2018 900,000 0 900,000
< 585,000
e 315,000
01 A& HI 898,000 0 898,000
OUIIM=X MEHEYZ ZHA(HE) 898,000
< 585,000




EX: S22
Hu: pEAE
CHel: 22X ope (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 313,000
03 AlE 201 | 2,000 0 2,000
OANELEUHI(HEH) 2,000
HAZES Y dg¥MT ZH(EX) 806,000 0 806,000
& 403,000
= 403,000
401 AlEHIZ 2 0HY| 806,000 0 806,000
& 403,000
= 403,000
01 Al& B 804,000 0 804,000
OEHNMNZBE U=E 2T ZHAIY 804,000
& 403,000
= 401,000
03 AlE 201 Y| 2,000 0 2,000
OAI& 20| 2,000
2HAFRl 2SR MEIZ2R XAAY(EEH 1,400,000 0 1,400,000
& 650,000
= 750,000
401 AlEHIZL 2 0HY| 1,400,000 0 1,400,000
& 650,000
= 750,000
01 Al& H| 1,400,000 0 1,400,000
OZALRl ZUHSK MEIZ2R XA (HE 1,400,000
= 650,000
= 750,000
ZEALKl 2SS X MEHS & X4 AMY 30,000 0 30,000
401 A& HI L 2 0HHI 30,000 0 30,000
01 Al& H| 30,000 0 30,000
OZtAFRl EXIOHEY & 22X A2l 30,000
ZZAIEZEF K 22 150,200 ,000 100,200
QEWHE SA2e AL 9,000 ,000 A 1,000
201 et d| 9,000 ,000 A 1,000
02 2% 4| 9,000 ,000 A 1,000
OEHHHY KX &2l 9,000
ESSHOIODIA AlE X &2 8,000 ,000 0
401 AlEHIZL 2 0HY| 8,000 ,000 0
01 Al&H| 8,000 ,000 0
O¢2t AIE&E SX22d| 8,000
HE™ SA2H2IAY 8,200 ,000 A 800
201 2Et24H Y| 8,200 ,000 A 800
01 AP 22| H| 400 0 400




fAH: S2st22 1
Hu: pEAE
S ZFBAES A2 )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORIEE + 400
02 2324l 7,800 9,000 A1,200
OXIIRS 650,000& =128 7,800
HEFANEE FA22AY 45,000 23,000 22,000
201 £B-2dH| 45,000 23,000 22,000
02 =24l 45,000 23,000 22,000
O=BANEE FA2e 250,000 » 1221 * 36,000
OZZANEE HIIR= 9,000
2FI|EE AIEE SAZElAY 50,000 0 50,000
401 AIEHI L 20| 50,000 0 50,000
01 A& HI 50,000 0 50,000
OZEI|Et AId2 RAH 50,000
2T F=H SIS 2 EY 30,000 0 30,000
401 AIEHI L 20HEI 30,000 0 30,000
01 A& HI 30,000 0 30,000
oOZFTH F=H ZSHE clEH 30,000
S FEHR LAY 8,806,500 2,017,500 , 789,000
= 4,000,000
= 1,265,000
s 3,541,500
HYHELIA ZHAE M AL ( 100,000 0 100,000
< 65,000
s 35,000
401 A& HIZ 201 I 100,000 0 100,000
< 65,000
s 35,000
01 A& HI 100,000 0 100,000
OHYALIA ELYAE = (& &) 100,000
< 65,000
s 35,000
NEXNREEH ASASE(EX) 8,600,000 2,000,000 ,600,000
= 4,000,000
< 1,200,000
[ia 3,400,000
401 AIEHI L 2 CHYI 8,600,000 2,000,000 ,600,000
= 4,000,000
< 1,200,000
e 3,400,000
01 A& HI 8,600,000 2,000,000 ,600,000
Ol AXRHEH A AS 8,600,000
= 4,000,000
= 1,200,000
s 3,400,000




2N

Am. BRAE
SR HEXNSFEHX ZHAY (&2 &)
SA - BB (BH) - MEAMY - BYS ofl &t o SSa HDE2
X FoE 2435 106,500 17,500 89,000
201 Bt 5,500 15,000 A 9,500
01 At 22l bl 5,500 15,000 A 9,500
OMEXNR ANERIS FEAH ¢
110,000& 25 23| 5,500
203 € R =&lY| 1,000 1,000 0
03 Al Z=A SR =AH| 1,000 1,000 0
OMNEXNFAH AIEE=X HRFXH| 1,000
207 A IR b 100,000 0 100,000
01 A2 sS<H| 100,000 0 100,000
OMNLRNFAY EH5 HAREA 100,000
A EXEot=22 XY 552,000 362,000 190,000
& 293,000
iy 259,000
2 XA 552,000 362,000 190,000
& 293,000
= 259,000
X e (g mEaEIX ZH)(HE) 452,000 282,000 170,000
T 293,000
= 159,000
401 Al HI L £ 0HHI 452,000 282,000 170,000
= 293,000
= 159,000
01 A& HI 452,000 280,000 172,000
ogs TR XM (ME) 452,000
= 293,000
= 159,000
S AAX MFEHAAESHI} 100,000 50,000 50,000
401 Al HIL 200 100,000 50,000 50,000
01 A& Hl 100,000 50,000 50,000
OGY&LTAEX AIZSHISXTAISS 100,000
AEAZE SE 2L 955,000 1,300,000 A 345,000
hag 955,000
823 22| 955,000 1,300,000 A 345,000
hag 955,000
XYW (2X) 430,000 100,000 330,000
rag 430,000
401 Al HIL 201 430,000 100,000 330,000
rag 430,000
01 Al& H| 430,000 100,000 330,000
ONZUDUDY BBUE 01T 2EAY 430,000
fag 430,000




EX: S22
Hu: 4EARYIY B
ool 2YIH e CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
NEE=Q AEIH(EX) 525,000 100,000 425,000
Fag 525,000
401 AlEHIZ 201 Y| 525,000 100,000 425,000
g 525,000
01 A& H| 525,000 100,000 425,000
OZ2E0| XAL2t & LAY 525,000
Fag 525,000
SHAE A AH| 96, 168 105, 160 N 8,992
Jl2Z bl (2ar22 1) 96, 168 105, 160 N 8,992
HAEFXAHH| 9,200 4,200 5,000
203 R F & 9,200 4,200 5,000
01 JI22HE PR FAH| 5,000 0 5,000
OJ|H2I P28 5,000,000 x 1Al 5,000
04 EANSIELRF=XH| 4,200 4,200 0
OFRMNSI LR 350,000 x12& 4,200
QB2 A 31,000 31,000 0]
201 et d| 31,000 31,000 0
01 A2t 2| H| 30,600 30,600 0
Ogtt4f=24| 15,600
O =&l 15,000
02 2%l 400 400 0
02322 ¥ HA 400
[0:1s] 55,968 69,960 N 13,992
202 o4 | 55,968 69,960 A 13,992
01 2L HI 55,968 69,960 N 13,992
© 2tLH 4 H| 42,240
O 22 (4 H] 13,728




